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Note:(a)All questions are compulsory.

(b) The candidate is allowed to make Suitable numeric assumpuoﬁ}l}fé ﬁequzred

for solving problems %%%5?

Q.No Question % )] CO Marks
Q1 Consider a scenario where Company Y enters into a cetlevel [CO-2] [5]
agreement (SLA) with a cloud provider. The tem} d %@ LA are [CO-3]

as follows:

Availability Guarantee: 99.7% over a 90- day%enhg g fv

Service Period: 90 days. % %

Maximum Service Hours per Day: 20} h?i svéa Py,

Cost: USD 60,000 per day. 3 2 “

Service Credits: Customers recewé?"crcﬂﬁéuf the availability does
not meet the SLA. Ny % B

The monthly uptime and cqgrf‘é»éjipﬁdmg service credits are defined
as: P W

g

€,

Monthly Uptlmg{l?erceﬁ?age Service Credit
<99.7% S 10%
<99.0% A ¢ ¥ 20%
<98.5% € % 30%
<980% .~ 3 : 40%

é x‘“’\ P
A
Etimng the service period, Company Y expenenced seven outages

s |'as t 1lows: 3 : R W]
‘%‘fhgurs 10 minutes

4. 3thours 50 minutes

% 2 hours 30 minutes

| 1 hour 45 minutes

4 hours 20 minutes

2 hours 15 minutes

30 minutes

Based on the above information, calculate the following:

1) Total outage time in minutes.
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2) Total availability in minutes over the service period.

3) The total cost of the service if SLA terms are violated.

4) The service credits based on the monthly uptime table.

5) The effective cost payable after applying the service credits.

Q2 Explain the role of each of the following cloud mechanisms and [CO-1] [5]
discuss how they contribute to the reliability, performance, and cost- | [CO-2]
effectiveness of cloud services with proper diagrams:
1)Automated Scaling 13%
2)Load Balancer A?i - &

Q3 Propose a system architecture using SOA, identifying key [ 0 ] : 5]
components required for its implementation. Explain how these ¢1€Q:3), '?’
components work together in a multi-tenant environment, £ b

Q4 Compare the functionalities of a monitoring agent, a resource aépiifv:,\ fC@il] [5]
and a polling agent.

Qs A company is running a datacenter and is focused on 1mpr0 m 80 [CO 2] [51
energy efficiency. You are tasked with analyzing its current p% [CO-4]

consumption and proposing ways to improve it.

L4 &

Given:
e The datacenter has 500 servers, each cons%i;glﬁg 450 wats
of power. F AN
e The Power Usage Effectiveness (P«U};‘Q of the datacenter is
currently 1.8.
e The datacenter operates 24 gfoyré;ﬁfﬂg? and 365 days a year.

o Electricity costs Rs.0.10 pé%‘l&vh >

Questions: L
1. Calculate the togal e ¢rgy consumptlon of the servers (in
kllowatt-hour‘?k ) over a year.
. Calculate the total*eriergy consumptlon of the datacenter
(including c%ohng, lighting, etc.) using the PUE value.
. Determines thQ-ﬁnnual electricity cost for the datacenter.
Pr@ 0se a,Way to reduce the PUE to 1.5 and calculate the
%'gy an ual electricity cost after this improvement.
55 wﬁ,emuch money would the company save annually by

]

B L

improving the PUE from 1.8 to 1.5?
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